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D1/ MCO test (Answer the following)

i

1: The redugg;t le is interested in two variq
Answer: QI) p HF&T d) T & conc.

2: Ideal solution follows -~ - - - - - - - - - law.
Answer: a) Raoult’s b) Trouton’s c) Henry’s law

3: The three phases of H0 in the phase diagram meets?

Answer: a)at 1 atm b) over I atm ¢) below latm

4: Liquid solution of HNOj is formed from? e

Answer: a)1C b)2C Cc) d)4C

5: How many phases are there whe mber of variants is zero and the number of components is one?
Answer: a) zero c)2 d)3

6: The Clausius-Clapeyron equationean-befipplied when there is an equilibrium between one of the following?
Answer: @)L & L w )G D d)S&S

7: One of th ing forimulas represents the right equation of Henry’s law?
Answer: @) Pa=yiP/ b) Py> P4 ¢) Pa<ysP'4 d) none of these

8: Molality is used to calculate the molar mass of the?

Answer: a) non-volatile solute b) pure solute d) solution

9: Osmosis pressure exerts when the solvent trapsfers-tgthe?
Answer: a) volatile solute hCzon-v ¢) pure solvent d) solution

10- One of the muyst important benefits of measuring AVP, ATy, ATrand AIl is to calculate - - - - - of B?
Answer: <a) M b) m ' E 4 d)p

m The vapor pressure (VP) of a substance is 30 torr at 250 K. At what temperature will the substance have
VP of 150 torr? AvapH is 45 kJ mol'?

m Plot the phase diagram of the system (A & B) assumed that (A & B) do not react with each other. A
freezes at (—5 °C) and B freezes at (7 °C), and that an eutectic mixture is formed when the ratio is 70 wt

% of A and that the eutectic melts at (— 10°C), then label all the parts (p & F) of the diagram?
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